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&% RAEHNAREE

No 1 2 3 4 5 6 7 8 9
X & #AH|T7.5. 11| 7.5.11|7.6.13[7.6.13|7.6.16|7. 6.16/7. 7. 4|7.7.4/|7.10.18
2 |& B N 40°52.3' 40°52.2' 40°42' 40743’ 40°52’ 40°52° 40°52° 40°52. 40°52.2'
E140°03.0" | 140°01.5' | 140°29° 140743’ 140703’ 140°04' 140703’ 140°03.6" | 140°03.7°
& K (m) B’ 150 181 145 135 144 141 144 141 298
g3 B & i i & i & I’ I’ 1’
X & C C C 9] C C C C C
B ) E E NE NE w W N N NW
B 7 2 2 2 2 1 1 1 1 3
R b/ 17.0 19.5
B E 1,014 1,014 1,014.5 1,014.5 1,004.5 1,004.5 1,007 1,008 1,017
% = () | 13.56 13.83 16.16 15.23 19.46
= |53 () B 9.43 8.59 10.13 10.40 10.66 V=R =R
il ] B
2 M8 Kk (m 1,400 1,400 1,400 1,400 1,400 1,400 1,400 1,400 1,400
% B 8B B ¥ 09.35 10.51 08.52 09.51 09.15 10.16 08.15 09.20 09.18
) noon & T B 09.50 11.06 09.06 10.10 09.30 10.31 08.28 09.31 09.30
B & K H 3 4 3 2 3 3 3 4 10
5 ® 5 A E E E W E E E E E
% " " R M 8 10 10 10 10 10 10 10 5
B BB R 10.03 11.20 09.19 10.22 09.43 10.44 08.41 09.45 09.45
non TR 10.33 11.59 09.45 10.50 10.10 11.15 09.11 10.15 10.25
b 5 ¥ A 20.0 3.0 2.0 1.0 1.0
kY F R 1.0 1.0
775V F R
7 A AV 0.5 0.2
s Zs A
# = ¥ A 5.0 1.5 5.0 3.0 1.0 1.0
N Rx N & 0.8
hoF H VT 0.1 0.8 1.0 0.3 0.2 0.5 0.2
7 4 > A 0.5 0.3
K v b 50.0 20.0 1.0 20.0 15.0 8.0 50.0 20.0 180.0
= L 7
Ay by X T 10.0
3 4 A
7 A H v A 0.5 10.0 0.8
b 3 PR A
Vv N F 1.0 4.0 1.3 1.0 2.0 1.5 0.5
A v H v oA
A A4 2 H v A
7 H A 5.0 1.0 1.5 1.0 1.0
= # v 4 0.1 0.5
= =2 ¥ Vv 4
YFrFavHrvA
e v S = 2.0 20.0 0.5 1.0 0.7 1.5 0.7 1.0 3.0
BE (> 2 2% v 4
AR HF v A 0.3 0.5
v = U5 N F
7 v -] 14
g P A b 1.0
ke % 2 5.0 0.2 2.2 1.0 2.0 2.0 3.0 3.0 20.0
~ b4 2 2.0
Hh VvV F = A 1.0
x ANAL D ANAA A
» 0.5 2.0
ft
it 91.2 55.2 12.9 23.7 27.0 18.7 60.0 27.2 217.8
% %
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No 10 11 12 13 14 15 16 17 18
X AR [7.10.18[7.10.18(7.12. 4| 7.12. 4| 7.12. 4{7.12.20{7.12. 20 7.12.2007.12. 20
g & = N 40°52.1° 40°51.9 40°54.3' 40°54.4° 40°55.0" 40°55.0" 40°55.9" 40°56.2° 40°56.2°
E140°02.9" | 140°04.3° | 140°02.6° | 140°02.7° | 140°03.1' | 140°03.1° | 140°03.4' | 140°03.4" | 140°03.1
8 X (m) 123 144 123 281 217 217 274 257 296 270
-3 " 7’ 78 b/ A i 7’ 7’ 7 &
X & C C OR R C C C C C
B 2 W W NwW NwW NwW NwW W \ w
B, ) 2 2 4 4 4 3 3 3 3
K bt 6.0 7.0 7.4 2 2.5 3 3.5
K E 1,017 1,017 1,008.2 1,007.5 1,007.5 1,020 1,020 1,020.5 1,019
% E-d <) [i:1]
- - () B|V—h—A|¥Y—rk—A
b4 ml & B [
2 M8 K& (m) 1,400 1,400 1,400 1,400 1,400 1,400 1,400 1,400 1,400
# # 8 B M K| 10.55 11.56 09.30 10.50 12.05 08.35 09.58 11.16 12.32
non R T B 11.08 12.12 09.46 11.03 12.20 08.47 10.10 11.31 12.46
M & B M 4 5 10 10 10 10 10 10 10
2 B 5 B E E E E E E E E E
& " " B M 5 10 10 10 10 10 10 10 10
% M8 M M K| 1117 12.30 10.06 11.23 12.20 09.07 10.30 11.51 13.06
non BT K 11.50 12.58 10.39 11.55 13.16 09.46 11.04 12.25 13.40
b 7 R 2.0
L A
TV )F AR
7T A A Y
< X A
B | = # 2
N R N X 2.0 4.0 6.0 0.3
h F ¥ v I 1.0
7T 4 F A 0.7
ks v r 40.0 20.0 40.0 50.0 120.0 15.0 130.0
g X 4 4.0 8.0 6.0 5.0
Ay b XS 8.0 2.0 70.0 40.0 40.0
13 Z A
7T h H v 4 0.6
B [(vmax2HFL A
7 14 ~ 5
A v H Vv A4
A4 2 H VA4
T + P 1.0 1.0
< ¥ v 4 0.2 0.8
<~ a ¥ v 4
YFFAVHUVA 0.3
e Vv J = 2.0 2.0 1.0 3.0 3.0 2.0
B > A X H Vv A4
AR H v 4
y = V5 ~F
7 v =3 v 2.0
¥ vV 4 A 2.0 2.0
ke | % 2 2.0 20.0 20.0 5.0 30.0 20.0 10.0 4.0
~ b4 2 3.0 8.0 10.0 10.0 10.0 15.0
kS
D
fit
it 6.5 5.8 75.0 56.0 64.0 168.3 201.0 89.6 139.7
] *
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No 19 20 21 22 23 24 25 it ¥ E R
X & £AF|7.12.21|7.12.21{8.2.5(8.2.8/8.2.8[8.2.8[8.2.38 (%)
& & & N 40°52.2° 40°52.0" 40°52.0" 40°54.4’ 40°54.4’ 40°54.4’ 40°54.4'
E140°02.6° | 140°02.6° | 140703’ 140°02.5" | 140°03.1' | 140°02.5" | 140°02.5’
& X (m) 43 154 145 148 287 275 292 221
E B 1’ i T’ ) R’ & &
X & C C B C C C C
B, ] W NW W NW NW SW SW
B, p] 3 3 2 3 3 2 2
K B 3.0° 3.2
& E 1,015 1,014.5 1,020
% ® (C) ]
® =3 () |
b4 il
2 M8 E (m 1,400 1,400 1,400 1,400 1,400 1,400 1,400
# £ A B B K| 08.3 09.40 09.10 08.42 09.56 11.12 12.30
non BT R 08.50 09.53 09.19 08.55 10.10 11.25 12.43
M R B M 3 3 3 10 10 10 10
B ¥ 5 R\ E E E E E E E
- " " M 10 10 10 10 10 10 10
W M B M | 09.03 10.06 09.32 09.15 10.30 11.45 13.03
non & T B 09.33 10.31 10.08 09.46 11.00 12.20 13.34
A 3.0 2.0 10.0 42.0 (2.7
L 2.0 4.0 (0.3)
T TS5 )F R 3.0 10.0 8.0 4.0 25.0 (1.6)
T A A Y 0.7 (=)
s & A
# = ¥ A 1.0 1.0 18.5 (1.2
N R ~ R 13.1 (0.8
h + H v I 1.0 0.8 1.0 6.9 (0.4
7 4 F 2 i 1.5 (0.1
*® v » 2.0 1.0 3.0 1.0 1.0 787.0 (51.0)
= ¥ 5 40.0 4.0 20.0 3.0 90.0 (5.8)
Ay + Y XS 30.0 10.0 8.0 6.0 224.0 (14.5)
e 35 A 0.8 0.8 (=)
7 h H v A4 11.9 0.8)
: 3 Y eraxHLA
R 1.0 12.3 (0.8)
A VY H Vv 4 0.7 0.7 (=)
A4 2 H VA4
7 + A 1.0 12.5 (0.8)
-~ ¥ v 4 0.5 2.1 (0.1
- a ¥ v A
TFRAVH VA 0.3 )
e LV 7y = 1.0 3.0 47.4 (3.1)
b 3 >+ XA 2 H VA
A A H v o4 2.0 2.8 (0.2)
Y= VS N F
7 v = v 1.0 2.0 2.0 7.0 (0.5)
¥ UV A4 h 2.0 1.0 8.0 ( 0.5)
ke | % = 2.0 1.0 1.0 2.0 1.0 156.4 (10.1)
»~ B] 2 58.0 ( 3.8)
h Vv ¥ = 4 1.0 (0.1)
% M4y 1.0 |74 0.8 3r 1.0 AL 0.7 77 3.0 (0.2
o 77 20|77 1.0 AR 0.7 (CD)
m4h 2.8 (0.2
ft Ay 2.5 (0.2)
H 14.2 124. 23.0 83.0 28.0 35.7 11.0 1,542.9
i} #
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